
currentlighting.com/aal
© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change without 
notice. All values are design or typical values when measured under laboratory conditions.

Page 1 of 2

 Rev 09/01/22

is_banner_arms_R01

A96087

BBS4-BBS5

01-31-2011 A

INSTALLATION INSTRUCTIONS
CATALOG NUMBER

PART NO.APPRVDDATE

DATE REV.

16555 East Gale Avenue
City of Industry, CA  91745
(626)968-5666

INSTALLATION STEPS:

1) PLACE CLAMPS ON POLE AS SHOWN, POSITION AS REQUIRED.

2) SECURE CLAMPS TOGETHER WITH (4) BUTTON  HEAD BOLTS.

3) UNSCREW BRASS BALL TO INSTALL BANNER AS INDICATED.

4) SCREW END OF SAFETY CABLE INTO CLAMP AS SHOWN.

5) SCREW BANNER ARM ASS'Y ONTO THREADED BOSS ON CLAMP.

6) INSTALLATION IS COMPLETE.
SIDE VIEW

FINAL ASSEMBLY

POLE (REF.)

CAST CLAMPS
ALUM.

TOP VIEW

SIDE VIEW

POLE (REF.)

SAFETY CABLE

(2) S/S SET SCREWS (NOTE #6)

BRASS BALL
(UNSCREWS)

BANNER ARM
BREAKAWAY
COUPLING

1/4-20 BOLTS
2-PER SIDE AS
SHOWN.



currentlighting.com/aal
© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change without 
notice. All values are design or typical values when measured under laboratory conditions.

Page 2 of 2

 Rev 09/01/22

is_banner_arms_R01

ARCHITECTURAL AREA LIGHTING INC.
CATALOG  NUMBER

14249 ARTESIA BLVD. LA MIRADA, CA. 90638 

INSTALLATION INSTRUCTIONS

PH. (714) 994-2700 FAX (714)994-5200

INSTALLATION STEPS:SIDE VIEW

TOP VIEW

1. PLACE CAST BRACKET ON POLE AS SHOWN, POSITION WITH PRE DRILLED HOLES

2. SECURE BRACKET WITH (2) 3/8-16 SOC. HD. CAP SCREWS (PROVIDED)

3. UNSCREW BRASS BALL TO INSTALL BANNER AS INDICATED

4. SCREW END OF SAFETY CABLE INTO BRACKET AS SHOWN

5. SCREW BANNER ARM ASSEMBLY ONTO THREADED STUD

6. RE-INSTALL BRASS BALL

7. TIGHTEN (2) SET SCREWS AS NOTED

8. INSTALLATION COMPLETED

BSQ - SERIES

SQUARE POLE (REF)

SAFETY CABLE

(2) S/S SET SCREWS

CAST BRACKET

BREAKAWAY

COUPLING

BANNER ARM

BRASS BALL

(UNSCREWS)

(2) 3/8-16 SOC. HD. CAP SCREW 

3/8-16 INSERT (REF)

(2) S/S SET SCREWS

12"- 18"- 24"- 30"

A96396


